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F28/\ERTHRETE R EEER(THN3EE~THMSFE)

T (BA7:FHA)

" H (Ha0 RO ) %ﬁ?oaiﬁ% EWE | SHsEE SHAEE SHSEE ImELE vl

F1E NEOBRLAMTIRID - 2B EHEEEE(R 8,138,375 4,111,447| 50.5% 1,079,526 1,516,039 1,431,363 4,026,928 10~14~R-%
2EF1 THFIRAOHE 484,950 152,981 31.5% 56,942 130,765 144,262 331,969 10R—
1 ITRUEER D2 193,276 20,345 10.5% 4,950 72,719 95,262 172,931 10—
2 MEEREDHE 266,692 120,462 45.2% 48,230 49,000 49,000 146,230 10R—
3 HTHMZEDLSH OHE 0 0 — 0 0 0 of 1ox—2
4 aVRIMEELIKYDHEHE 24,982 12,174 48.7% 3,762 9,046 0 12,808" 10R—
7EH2 BRREDORE 108,600 85953  79.1% 7,865 6,760 8,022 22647  10R—
1 BRI R RO 50,706 50,706  100.0% 0 0 0 of 10R—>
2 FMRUANIRBEOE R -RE 0 0 — 0 0 0 0 10R—
3 FERBBORELEE 57,894 35,247 60.9% 7,865 6,760 8,022 22,647 1o0R—
73 MEHMRUEEZDOREREE 1,286,276 755,365 58.7% 78,441 313,037 139,433 530,911 1o0R—
1 #HETEEROE(E 101,092 17,898 17.7% 36,727 40,274 6,193 83,194 10R—
2 NEXEDEHE 1,079,118 731,601 67.8% 8,314 239,363 99,840 347517 1o0R—
3 ERFEXRODIMfEE 67,066 4,066 6.1% 21,000 21,000 21,000 63,000 10R—
4 BEORWMEREDOEHRE 39,000 1,800 4.6% 12,400 12,400 12,400 37200  10R—3
5 HMORERVEMEBDORERE 0 0 — 0 0 0 of 1ox—2
nH4 EBREOER 1,800,842 882,525  49.0% 342,690 294,800 280,827 918,317 1IR—D
1 EERVEEDEHRE 0 0 — 0 0 0 of 1R—>
2 RAT—HMCEfEDHET 0 0 — 0 0 0 0 MR—=
3 ETEDOEHERUH#FHIE 1,636,989 796,813 48.7% 309,376 294,800 236,000 840,176 HMR—
4 EREEBEEDEIE 20,490 5,364 26.2% 10,155 0 4,971 15,126 MR—=
5 REMEKEDFKEE 143,363 80,348 56.0% 23,159 0 39,856 63,015 MR—=
S5 RBARRDERE 80,540 21,160 26.3% 17,878 28,181 13,321 59,380 NMR—=
1 LB ENBHROERFRE 54,963 1,976 3.6% 15,747 26,050 11,190 52,987 NMR—
2 FHIN\E(RT)EREDEFEOHE 10,720 10,720  100.0% 0 0 0 0 NMR—
3 MATIERIRXI R D HEHE 703 703|  100.0% 0 0 0 0 NMR—
4 NEZBOFESR 14,154 7,761 54.8% 2,131 2,131 2,131 6,393 1MR=

7E6 L TKEDERE 2,184,869 750,533 34.4% 249,753 480,193 704,390 1,434336| 11~12R—
1 BEGKOELR 74,327 64,154 86.3% 0 5,164 5,009 10,173 MR—=

2 KEHIEHERDEE 780,595 437,925 56.1% 130,628 114,667 97,375 342,670 11~12R—
3 REAKHhIZDEEHE 0 0 — 0 0 0 0 12R—2
4 TKESBEDRE 1,273,457 232,899 18.3% 104,528 341,140 594,890 1,040,558 12R—2
5 KileDEREE 0 0 - 0 0 0 0 12R—2
6 BHLIEREDL RRE 36,628 15,280 41.7% 7,116 7,116 7,116 21,348 12R—2
7 NEMGEBEEEDHE 19,862 275 1.4% 7,481 12,106 0 19,587 12R—

nEH7 CHUBEDREERE 812,468 689,829 84.9% 25,835 80,712 16,092 122,639 12~13R—2
1 CHIEARH DRI 0 0 — 0 0 0 0 12R—2

2 ZTHNIEBEERDEE 107,588 12,142 11.3% 15,500 73,711 6,235 95446 12~13R—

1 R=




F28/\ERTHRETE R EEER(THN3EE~THMSFE)

e (BA7:FHA)
R (Ha0 RO ) ?Hgalodgffﬁ: EWE | SHsEE SHAEE SHSEE ImELE vl
3 3RO 10,989 5319  48.4% 1,890 1,890 1,890 5670  13R—3
4 LERANEBHEEROERE 663,340 663,340  100.0% 0 0 0 0 13IR—
5 KNEGHRDERE 27,800 9,028 32.5% 7,528 4,194 7,050 18,772 13—
6 ARBHDOHER 2,751 0 0.0% 917 917 917 2,751 13R—
78 #RIL-IRIEEILDHEHE 436,415 264,649 60.6% 88,238 43,591 39,937 171,766 13—
1 RIEXR{EDHE 0 0 — 0 0 0 0 13R—
2 AEOFMOEfE 436,415 264,649 60.6% 88,238 43,591 39,937 171,766 13IR—
3 HEICKDIFILDHEE 0 0 — 0 0 0 0 13R—
29 BHIL-RBEREDHE 11,031 5,553 50.3% 1,826 1,826 1,826 5,478 13R—
1 HEEHBERVHEBLEFHAORE 2,236 1,258 56.3% 326 326 326 978 13R—
2 HIEBFILES) D HE 0 0 — 0 0 0 0 13R—T
3 RBREMHDRE 8,795 4,295  48.8% 1,500 1,500 1,500 4500  13R—3
4 XRATREAR~ADFHXIE 0 0 — 0 0 0 0 13R—
SEF10 CHMF-HMEAFIDOFRE 822,193 439,085 53.4% 183,405 119,362 80,341 383,108 13~14~_—
1 JHBF A D5&1E 716,664 385,837 53.8% 179,847 73,817 77,163 330,827| 13~14R—
2 HER-HBORIE. TE 104,710 52,429 50.1% 3,558 45,545 3,178 52,281 14R—
3 BIRSEIZKDNKFHEDHE 819 819|  100.0% 0 0 0 0 14—
711 PHRAFIDORIE 110,191 63,814 57.9% 26,653 16,812 2,912 46,377 14R—
1 SAIOHKER O EFER VO FERE 73,620 38,720 52.6% 21,000 13,900 0 34,900 14R—
2 JRIUEBXDHE 12,218 4,856 39.7% 3,538 1,912 1,912 7,362 14R—
3 BFIEROEHE 0 0 — 0 0 0 0 14R—
4 HuigBh AR D EfE 24,353 20,238 83.1% 2,115 1,000 1,000 4115 14R—
5 gD N DRIE 0 0 — 0 0 0 0 14R—
F28 NEOSHREREEAUEREIRE 7,432,699| 5,224,424| 70.3% 952,330 665,502 590,443 2,208,275| 14~17R-
7EFH1 EMEOIRE 4,912,787 3,967,305 80.8% 483,673 237,809 224,000 945482 14~15R—
1 BX-BEREXZASZHGHEVNVFOER -HER 3,538,770 3,250,070 91.8% 262,700 17,000 9,000 288,700 14R—
2 EXREBOERE 501,528 299,082 59.6% 80,092 71,940 50,414 202,446| 14~15_—
3 V)—UEREDHE 174,145 89,341 51.3% 28,268 28,268 28,268 84,804 15R—
4 BRI, Eih- TSR RDHLE 3,210 895 27.9% 2,315 0 0 2,315 15R—
5 HhEEHNIHDHELE 0 0 — 0 0 0 0 15R—
6 FMHDEME 351,605 146,377 41.6% 69,661 69,300 66,267 205,228 15R—
7 MEDIRE 197,707 86,676 43.8% 37,401 36,815 36,815 111,031 15R—
8 EENEFLHIEEDKERSE 51,730 19,900 38.5% 860 12,110 18,860 31,830 15R—
9 MEDFTEMGEE RV SR KIZHFRHE 94,092 74,964 79.7% 2,376 2,376 14,376 19,128 15—
2 KEEXEDIRE 787,354 402,500 51.1% 163,812 131,327 89,715 384,854 15~16_—
1 BEREEEBROEE 47,114 11,760 25.0% 18,521 9,833 7,000 35,354 15R—
2 FHiEr-BEBAESZORELEFEREOHAM 725,615 379,412 52.3% 143,240 120,248 82,715 346,203 15~16_—
3 MBMIMERFEOEMRE -TXE 11,328 11,328/  100.0% 0 0 0 0 16R—

2 R—




F28/\ERTHRETE R EEER(THN3EE~THMSFE)

T (BA7:FHA)
" H (Ha0 RO ) ?Hgalodgffﬁ: EWE | SHsEE SHAEE SHSEE ImELE vl
4 BEFEFREKBUKESRMEFERE 3,297 0 0.0% 2,051 1,246 0 3,297 16—
7EH3 BIEOIRE 1,186,261 645,806 54.4% 183,238 181,677 175,540 540,455 16R—
1 g FEDEME 98,684 98,684  100.0% 0 0 0 0 16R—
2 EEEZADHEHROY 1,087,577 547,122 50.3% 183,238 181,677 175,540 540,455 16R—
3 BEFEKOFER 0 0 — 0 0 0 0 16R—
24 HEORE 144,246 73,897 51.2% 27,628 22,956 19,765 70,349 16~17R—
1 Bit-MERREAS DORIE 43,855 19,906 45.4% 7,783 8,383 7,783 23,949 16—
2 I EREFERAL-EREARORE 0 0 — 0 0 0 0 16R—
3 HEEFORLLHLEEOHE 97,991 53991  55.1% 18,245 14,573 11,182 44000 16~17R—2
4 EREEHDIEE 2,400 of  00% 1,600 0 800 2400  17R—T
5 #HEDKTRDHEAE 0 0 — 0 0 0 0 1IR—=
755 ERDRIHEERREDML 261,545 68,972 26.4% 65,744 69,380 57,449 192,573 1IR—=
1 EEFHAROBEE 128,710 3,886 3.0% 47,184 41,631 36,009 124,824 1IR—=
2 EARESOEREERAXRODRIL 120,293 59,333 49.3% 18,560 20,960 21,440 60,960 1IR—=
3 FFERUANKRDFEE 12,542 5,753 45.9% 0 6,789 0 6,789 1IR—
76 BARBEIRLY—FFRALLEEOIRE 140,506 65,944 46.9% 28,235 22,353 23,974 74,562 1IR—T
1 i FER FRAREOBEREIRILYI—EADHE 2,794 1,879 67.3% 305 305 305 915 1IR—=
2 BARREIRILF—ZFFRALLEFELEIWY 0 0 — 0 0 0 0 1IR—
3 BRINIILF—DHER 137,712 64,065 46.5% 27,930 22,048 23,669 73,647 1IR—2
385 HENVZIVEESEIMERE: ERE- EUDHHE 6,704,532 2,403,591| 35.9% 879,332 2,073,277 1,348,332 4,300,941( 17~20R-Y
7EF1 BEOYORE 310,069 101,831 32.8% 68,378 69,930 69,930 208,238 17~18R—
1 BEEEAHORTE 308,030 100,310 32.6% 68,378 69,671 69,671 207,720 17~18R—
2 IDEARDEEDYDHEE 2,039 1,521 74.6% 0 259 259 518 18R—2
782 ERAHOTE 3,493,477 927,880 26.6% 310,288 1,458,420 796,889 2,565,597 18R—2
1 BEEY—EXDODRE 2,879,841 746,612 25.9% 239,780 1,167,537 725,912 2,133,229 18R—2
2 MEEEDFIEE 233,071 101,217 43.4% 43,936 43,824 44,094 131,854 18R—T
3 ARFEAXRBDRIEL 285,711 42,588 14.9% 7,457 227,921 7,745 243,123 18R—2
4 EBREBERKRBXORTEL 94,854 37,463 39.5% 19,115 19,138 19,138 57,391 18R—
7EF3 HUSEHL DR E 0 0 — 0 0 0 of 18~19R—o
1 higEitEBDRIE o 0 — 0 0 0 of 1ox—o
2 RIVTATEHDHAE 0 0 — 0 0 0 0 19R—
4 BRERILOHEE 1,385,764 651,196 47.0% 250,991 246,445 237,132 734,568 19R—
1 NERREEDHE 1,053,902 495,155 47.0% 192,812 181,390 184,545 558,747 19R—
2 RILLTELE SHhiE DY 289,638 142,180 49.1% 52,685 47,680 47,093 147,458 19R—
3 AEALIKYFEFDRIE 42224 13,861 32.8% 5,494 17,375 5,494 28,363 19R—T
E5 FEEL-FETXENRIL 882,471 483,421 54.8% 113,637 169,718 115,695 399,050 19~20R—
1 FETXEORE 250,893 101,034 40.3% 49,111 49,111 51,637 149,859 19~20R—
2 ZHRLGREREOTE 434,076 289,363 66.7% 29,700 85,781 29,232 144,713 20R—

IR—




F28/\ERTHRETE R EEER(THN3EE~THMSFE)

o= (Bfr:FH)

B Ll hooRE | wpE | emomm SRR SRR SinEAE vl

TheE (H30~R2) —
3 REDELEK 197,502 93,024 47.1% 34,826 34,826 34,826 104,478 20R—T
4 DEYRRE~NDXIE 0 0 — 0 0 0 0 20R—
7E6 EALERADIHEE 632,751 239,263 37.8% 136,038 128,764 128,686 393,488 20R—T
1 g BITHEERE 40,864 15,462 37.8% 13,402 6,000 6,000 25,402 20—
2 /J—RIAE—avnit 8,881 4,317 48.6% 1,462 1,590 1,512 4,564 20—
3 BiLHtESmoiEt 583,006 219,484 37.6% 121,174 121,174 121,174 363,522 20—

BAE MFELEHFC BBEORIREXE  AR—YDIRE 4,177,943| 2,446,386 58.6% 169,691 364,079 1,197,787 1,731,557( 20~22R-Y

D1 EREVEOFEE 3,591,060 2,362,183 65.8% 153,078 229,038 846,761 1,228877| 20~21R—

1 HERBEORE 1,513,133 604,845 40.0% 18,766 134,379 755,143 908,288|| 20~21R—
2 BEABRDRE 357,870 236,476 66.1% 40,079 42,234 39,081 121,394 20R—
3 RILDTELERMBBDIRME 1,689,771 1,510,472 89.4% 87,601 45,793 45,905 179,299 2UHR—
4 FEXEORE 30,286 10,390 34.3% 6,632 6,632 6,632 19,896 21R—T
N2 AEFEDHE 25,347 10,864 42.9% 5,829 3,558 5,096 14,483 20R—
1 EEFEREDORE 6,710 3,314 49.4% 1,700 1,358 338 3,396 2UHR—T
2 AEFE-HEXBBREZFORE 0 0 — 0 0 0 0 20R—
3 REFENFRE 18,637 7,550 40.5% 4,129 2,200 4,758 11,087 21R—

PEF3 RIR—YDHEHE 513,081 28,803 5.6% 6,865 131,483 345,930 484,278 21~22R—

1 HEAREEEOBIEEE 508,677 26,811 5.3% 4,453 131,483 345,930 481,866| 21~22_R—
2 KB -RAR—YFENDFKE 4,404 1,992 45.2% 2,412 0 0 2,412 22—
3 2E-2EARESHEGEFEIRERRK 0 0 = 0 0 0 0 22R—
4 RR—VIEEE -AARETEXIE 0 0 — 0 0 0 0 2R—2
24 LB ORE-FER 48,455 44,536 91.9% 3919 0 0 3,919 22R—
1 =T, XL EEN D HEHE 0 0 — 0 0 0 0 22R—
2 XL ORFEELER 48,455 44,536 91.9% 3919 0 0 3,919 22R—

B58 N\EOBRIEZRRATIIBEETIIBES 8,397,405 5,418,876| 64.5% 1,321,199 825,726 831,604 2,978,529| 22~23R-Y
D1 DI TAFEHERRORE 661,863 182,526 27.6% 238,469 109,495 131,373 479,337 22R—
1 BTAREEDRIE 0 0 — 0 0 0 0 22R—
2 MIESEDOEFEMES DHEE 257,805 105,250 40.8% 129,241 600 22,714 152,555 22R—
3 HUSRIAR DR E 1,365 1,365  100.0% 0 0 0 0 22R—
4 EFERROHELEL 0 0 — 0 0 0 0 22—
5 BE-EEDHE 327,880 54,166 16.5% 91,238 91,238 91,238 273,714 22—
6 FTHEEDEE 7,236 4,361 60.3% 1,259 926 690 2,875 22R—
it NEEEFLEIYPREXE 67,577 17,384 25.7% 16,731 16,731 16,731 50,193 22R—
72 FRSEOHE 34,776 17,142 49.3% 5,878 5878 5878 17,634 23R—
1 BEOEELIKYDHE 34,776 17,142 49.3% 5,878 5,878 5,878 17,634 23—
2 BELOEREBERDOHE 0 0 — 0 0 0 0 23—
3 BLRARSESENES o 0 — 0 0 0 of 23x—3
4 BRARSEHERHORE o 0 — 0 0 0 of 23x—o




E2oH\ERTREHE EEFERER(SHIEE~SHSEE) .
(B FH)
= a E*}JEE [ ] =
= ~ = , = =. a E%
5 B SHHE | hoomE | #BE | SHsEE flafEE SHISEE IMERH SIREE
N3 B LBAFIOFTE 377,564 10,030 2.7% 367,534 0 0 367,534 23R—
1 RERMIBADIO—FN\URIRERFEOHZE 367,534 0 0.0% 367,534 0 0 367,534 23R—
2 BTROBEHRNERE DM E~MIT-XiE 0 0 — 0 0 0 0 23R—
3 LROFE 8,640 8,640|  100.0% 0 0 0 of 23x—2
4 MRCBREOEREBORE 1,390 1,390  100.0% 0 0 0 of 23x—2
784 THMEORIE 7,319,407 5207,282|  71.1% 708,685 709,720 693,720 2,112,125  23R—%
1 NRMGITERE O 83,364 27,760  33.3% 23,178 24,213 8213 55604 = 23R—
2 BEOAEMRE 21,132 21,132|  100.0% 0 0 0 of 23x—2
3 REL-BBDIHEE 0 0 — 0 0 0 0 23R—2
4 SB5IERETHEDHE 7,214,911 5,158,390 71.5% 685,507 685,507 685,507 2,056,521 23R—T
IS LT OHEE 3,795 1,896 50.0% 633 633 633 1,899 23R—
1 [RIETEROHEE 3,795 1,896 50.0% 633 633 633 1,899 23R—T
=} &t 34,850,954 19,604,724 56.3% 4,402,078 5,444,623 5,399,529 15,246,230
FHEEEDHER (i EHFA) BERETEFEDOHR (e '5HMA)
10,000 4,500
9,000 7’920 4,000 A
8,000
000 | f_%.s//\\ 3,500 - / \
' 5,445 5,400 =
6,000 ’ , <
5,000 o~ N0z __—e d 0 )\ \
4000 \/ 2,500 \ / \
3,000 2,000
2.000 L L a L 1 1 A4 X
' H30 R1 R2 R3 R4 R5 1,500 e
=1 £y
1,000 Z
~ ' FEIE g— - %5&
Eﬁ‘iﬂ:(HSO RSEEQEE‘Z) 500 %2§ (@ s —~ — o) %’2:5'_:
w5E /\EE-G)E_L§§}E‘§'6TMJ F1E /é\fé)iignﬂﬁ??é . ,%,4%';'/ | | \D'/D/ |
B =7 i gy
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-O—-F1E N\NEQOBARLAMTIILL -TRELEAHERE(E -O—F28F NEDEHNGERETRAL-EXIRE
—B-53E HIAVWEVWEBLELHREE-EE-EIUOHE —O-F4E SBSEEFFELHBBFORELUE - RIR—Y D IRE
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EHERLERE

(BHL:FH)
REFEI-V ZEA] EEE
|22 FEERE BERAM | BxE | wEEM | s S e
T 1 (BTRERMMBAER 3~4 13,737 - —|EFXHARDEEYIZLEEE Hh
1] 1| 4 |BAHER—RFGIST—2DEH 2~3 2,475 - — | BRI EEDORY TIFICLDHIBR =
T3] 1|3 4-7TRETKEBKBERSESE 2 52,398 5 619B[FXNBRELICKSERFFTRUMKBRBRELIEAEY (FXEDREITHIEXREDE) #
113 2 |MTEFEEBREX 30~2 725,316 30~5 1,026,726 AEFEFRFHLHBERELICLSEE #
1] 3] 2 [ATEFENEEREEE 30, 3~4 39,757 30 4957\ FEXFEDATAF i
1| 4] 3 |NERHRERIBRBESE 3~4 57,200 — — BIfRHERE (LB ERS B $EEREE) REL SR X SMOER B
1] 6| 2 |5@ith-BLKithFHKER 2~4 33,630 2~5 20670|EXFENER. EXEDHREICFIDIEE i
1 10| 1 [EPEERR RIERHEER 30, 2~4 69,313 30.2~5 93,058(FEFEMDT=8% H
1110 1 EBEREEREAEBREE 30.1.3.4 10,348| 30.1.3~5 21,005| FXHRRELICLYEE i
1]10| 1 EFHEREERRERSEE 30~2 9,788 30~2.5 16073 EXRAMRELICKVEE H
2 [ 1|1 | FHRUMERXEEEEMNER =] 40,000 30~4 26,666 TFA4FEE LG, BEXDEXEREIREIROFTESIBITISLIZLLER =
2 [ 1| 2 |RILMEERERFESE 30~3 233,560 30~5 317870(FXREHDENI L, THZ2FEHTHLIZLSERE =
o | 1| 4 ruEmm \ERRE a— s ) 15,000 _ _gﬁgwwnm HRASUNERERLGYERTHEHRT DHBEICEEL-O. MOHEE | o
2 [ 1| 8 |EREREEREXR(RERS) 30~1 19,988| 30~1,4~5 47035| B EEEHRICHRIEOHREERRIC, F-CEFERREBBLI-CLICLIER =
2 [ 4|1 |\ERERXAYEEEEEERRAER £H 4,953 30~2 &ws?gﬁzOH;UP%DA*E*WF%%#bWH*E[&yﬁmﬁﬁigﬁgimxé$¥% 5]

XEEEECHTAHEE FIEHESEK FRAMUEBEEER) ITOVTEXILHEVNLDET S

2 | 4| 3 |SRINBAERRRKPRUTAREBERSTE 30~2 9,724 30~5 19,086 EHEMEEEZHNOZNPRERICISIEE (FMIF4A1ENOTMEEIAZTBFE) ]
2 | 4| 3 [SANNERABERSKRBRTAREBEASEE 30~2 2,824  30~5 8.661|EHEMEREZNORNYPMERICLIER(SMIF4F1BNSHHM6EIAZTIBFE) %
3| 2|1 |EEREHEEX 1~3 147,022 1~2 106,983 EEM{E EfF A, REEEEFR -BEDLYPH e
32| 1 :ﬁ%&;tﬁfiiﬁﬁm-%i$¥ﬁ 1 5,335 1~5 1,787,492 ER AR B ICHROIEREFXEFEEBMLI=O E"
4 [ 1|1 |HERBERRFREEE 30.1.3 7542 30.1.4 1674|BXERFENDI1ERASAN(R3—R4L) . BXEDREICLIER F-EH
4 [ 1| 1 |N\EPERRBERESE 2~4 580,071 2~5 836574 HIEEXRMEENEEENCBHFEICEE. EXEDOREICLHER %
411 | 1 |[BEEERKSEE 30~1.4 23471 30~1.5 28131 | BEXFEEDRAFAF BEH
40 1| 2 \METH-/N\EMREFERIRERE = 9,659 30~1 2,981 | HM2FEEHR I, FFIFEEMRILELI=1=0 . THAEELIERTE k2
41 1| 2 |GIGARY—LRYRI—UEFERE NER) 2~4 99,224 2 99,295 R A DR2~DHIEIL *

6N—2




EREELFEFE (4 F)

BEEFEI-N ZEA] ZE%K

|22 FEERE BERAM | BxE | wEEM | s S e
41 1| 2 |GIGARY—ILFYRT—OBIFEE (RER) 2~4 55,338 2 54,904 |im K EA DR2~DHIEIL #
4 [ 2| 3 |Z=RERMBRESE 4 7,138 2 T150|BRFEDASAF
41 3| 1 |REKEEFRREHER(FL—Z2THER) 3 4,895 4 4,895\ B OOF DAL AFRATICHS R D —FFARICKDIERRYEN 13
4 [ 3|1 |MEAFTENMEZRIESEE 3 19,327 - — |BEHBDERLYICLDER 123
4 [ 3| 1 | EBLEHFKRG/ VIRV EREE 3 18,216 - —|EFXHARDEEYIZLEEE 13
431 %ggﬁﬁ%f{gﬂﬁﬁﬂgﬁﬁfﬁ%m%ﬁ%& 3 12,950 - —|EEPRDKEYICEESEE &
4 3|1 [BKT-ILIERERSE 30~1 1,243  30~1.3 2,076k BBNRFREDFTREA 13
41 3| 2 |ABEBRNLIFTAI—IANELBERIIESE 2 716 3 907|FH B AN F VAL RARITITHEIBEDRYERIZED LD 123
4 | 3| 2 |BEAR—VBERESE 2 880 3 880 AN F VAL AFRITITHESIBEDRYERIZLSZLD 13
4 13| 2 |IAERRICFAFRLSER 2 625 3 625 B0 F VAL ARITITHIFTRDBRYENIZEL LD 123

IR—



HMEBERHE

(BG1:FA)
BEEHE- FEREEE g
5= EHERA BERE EES 18 % e
=3 - R2 R3 R4 R5 H

¥ | fE
1 1 1 [EEREXFEERFEERESEE - TEEERFEERE 3~4 4,950 65,813 70,763 th
1 1 1 |BRAEREEVI—KBESIEEX EhEEE - EF s 4~5 3,718 92,103 95,821 ih
1 3 1 [RETKERMEBEHFRESE HEDREIEE 3 2,230 2,230 £
1 3 2 (BATEEENBRERIEEE SEEERE 5 33,600 33,600 JE
1 3 3 |ERMBIARHEESE TR ITEMHE 3~5 10,000 10,000 10,000 30,000 £
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